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Chemical	equilibrium	practice	test	answers

(a)	CO(g)	+	H2O(g)	Ã¢Â​'	Ã¢Â​'	CO2(g)	+	H2(g)	(b)	N2(g)	+	3	H2(g)	Ã¢Â​'	2	NH3(g)	(c)	NH4HS(s)	Ã¢Â​'	Ã¢Â​'	Ã¢Â​?	NH3(g)	+	H2S(g)	Use	the	definition	of	mass	action	to	write	the	equilibrium	constant	expression:	(a)	(b)	(c)	4.	3	H2(g)	+	3	/	2O2(g)	Ã¢	1344'	Ã¢	1344'	3	H2O(g)Ã​	Ã​	Kp	=	(1.1Ã	Â​1040)3	=	1.3Ã	Â​10120	Now,	adding	the	last	two	reactions
together	gives	the	target	reaction.	(b)	oxygen	gas	oxidizes	gaseous	ammonia	into	gaseous	nitrogen	monoxide;	water	vapour	is	the	other	product.	(a)	SO2(g)	+	Cl2(g)	Ã¢Â​'	SO2Cl2(g)	(b)	N2(g)	+	O2(g)	Ã¢Â​'	Ã¢Â​'	2	NO(g)	(c)	SO2(g)	+	Ã¢Â½	O2(g)	Ã¢Â​'	Ã¢Â​'	SO3(g)	The	LeChatelier	Principle	says	that	a	balance	will	shift	to	compensate	for	any	additional
stress.	The	number	of	moles	of	C	in	the	gas	phase	sample	=	13,71	g	/	12,011	g/mol	=	1,141	mol.	Determine	the	Kc	values	corresponding	to	the	following	Kp	values.	(a)	SO2Cl2(g)	Ã¢134;'	Ã¢	134;'	SO2(g)	+	Cl2(g)	Kp	=	2,9Ã±Â​10Ã¢Â±2	a	303	K	(b)	2	NO2(g)	Ã¢134;'	Ã¢	134;'	2	NO(g)	+	O2(g)	Kp	=	0,275	to	700	K	(c)	CO(g)	+	Cl2(g)	Ã¢134;'	Ã¢134;?
COCl2(g)	Kp	=	22.5	at	395	Ã​Â°C	In	any	case,	find	the	variation	in	the	number	of	gas	moles	between	product	and	reagent	and	then	use	the	relationship	Kp	=	c	=	KRT(c)148n;	where	T	is	in	K	and	R	=	0,0821	LÃ​Â·atm/molÃ	Â·K	(a)	Ã​Â​n	=	[1	+	1]	Ã¢Â​	[1]	=	1	Kp	=	2,9Ã	Â​10Ã¢Â±2	at	303	K	then	Kc	=	Kp/(RT)1	=	2,9Ã	Â​10Ã¢Â±Â±2/(0,0821Ã±303)	22,5	at
395	Ã°C	=	668	K	then	Kp/(RT)Ã¢Â±1	=	22,5(0,0821Ã±668)1	=	1	=	1	=	1.23Ã	Thus,	a	catalyst	can	change	the	speed	at	which	dynamic	equilibrium	occurs,	but	does	not	change	the	value	of	the	equilibrium	constant.	If	0.250	mol	each	of	CO	and	H2O	is	introduced	into	a	reaction	vessel	and	equilibrium	is	established,	how	many	mol	each	of	CO2	and	H2
will	be	present	at	equilibrium?	Then	convert	this	molarity	into	a	mass	of	isobutane.	For	the	reaction	CO(g)	+	H2O(g)	Ã¢Â​	Ã¢Â​	CO2(g)	+	H2(g),	Kc	=	pK	K	325	=	372	+	052	=	T;	KÂ·Ã​lom/mtaÂ·Ã​L	1280.0	=	R;	1	=	1	Â​Ã¢	)1+1(	=	nÂ​Ã​	,nÂ​Ã​TR(cK	=	pK:sevig	cK	rof	noisserpxe	eht	otni	snoitartnencoc	eseht	fo	hcae	gniggulP	.2S	lom	502.0	=	2/904.0	ro	,2S
ni	ruflus	lom	904.0	=	282.2	Â​196.2	gnivael	,2SC	ni	desu	si	ruflus	fo	lom	282.2	=	)	(2	,latot	siht	fO	.61	g	44.4	=	lom/g	41.85	Â​L	5.21	Â​L/lom	3Â	Â	Ã¢01Â​Ã¢11.6	=	ssam	ralomÂ​emuloVÂ​ytiraloM	=	ssam:si	muirbiliuqe	ta	enatubosi	fo	ssam	eht	oS?dehcaer	si	muirbiliuqe	nehw	tnerp	eb	lliw	enatubosi	fo	ssam	tahw	,CÂ°Ã;	52	ta	ksalf	L	5.21	a	otni	decudortni
si	enatubosi	g	00.5	fI	.lom	4850.0	si	mu	I	can't	believe	you're	trying	to	find	a	way	out	of	here.	noitcaer	llarevo	eht	dleiy	taht	snoitcaer	laudividni	eht	rof	stnatsnoc	muirbiliuqe	eht	ot	detaler	si	noitcaer	llarevo	na	rof	tnatsnoc	muirbiliuqe	eht	woh	ebircesD	.	sesag	fo	elom	1:stcudorP	.5	)g(lCON	Â​Ã¢Â​Ã¢	)g(2lCÂ½Ã​	+)g(2OÂ½Ã​	+)g(2NÂ½Ã​	)c(	)g(3HN
Â​Ã¢Â​Ã¢	)g(2H2	/	3	+	)g(2NÂ½Ã​	)g(ON	Â​Ã​Ã¢​Ã¢	)g(2NÂ½Ã​	+)g(2NÂ½Ã​	)a(.stnatsnoc	muirbiliuqe	eht	gniylpitlum	yb	dnuof	3721Â​Ã1280.0(00.2	=	pK	os	K	3721	=	372	+	0001	=	T	,0	=	2	Â	Â′Ã¢	2	=	nÂ​Ã​	)c(4Â	Â′Ã¢01Â​Ã¢16.1	=	1Â	Â	Â′Ã¢0001Â​Ã1280.0(2Â	Ã¢01Â​Ã	23.1	=	pK	os	,1Â	Â	Ã	Â	Ã¢	=	3	Â	Â	Ã¢	2	=	nÂ​	)b(22	=	1Â	Â	Ã	Â	Â	Ã	Â¢Ã¢Â¢	a(	nÂ​Ã​)
TR(cK	=	pK	pihsnoitaler	eht	esU	CÂ°	Ã​	0001	ta	00.2	=	cK	)g(2OC	Â​	Ã¢	Â​Ã¢	)g(2FOC	2	)c(	K	0001	ta	2Â	Â±Ã¢	01Â​Ã±23.1	=	cK	)g(rBON	2	Â​Ã¢	Â​Ã¢	)g(2rB	+	)g(ON	2	)b(	K	866	ta	301Â​Ã±2.1	=	cK	)g(2lCOC​Â​Ã¢	Â¢	Â±	(.cK	fo	seulav	gniwollof	eht	ot	dnopseroc	taht	pK	fo	seulav	eht	enimreteD	.81	lom	702.0	=	2H	fo	selom	fo	rebmun	eht	=	2OC	fo	selom
rebmun	eht	oS:melborp	eht	evlos	oT	.muirbiliuqe	eht	ni	tfihs	on	eb	lliw	ereht	os	sesag	fo	selom	fo	rebmun	emas	eht	evah	sedis	htoB	.noitcaer	a	fo	noitisopmoc	lanif	eht	tceffa	ton	od	tube	noitcaer	lacimehc	a	fo	etar	e	ht	esaercni	stsylataC	.	K	006	ta	3.32	etavort		Ãtitnauq	eL	.01	5,94	=	2​​â1​Ã	)301​Â​Ã54,2(	=	cK	)g(	2O	2​​â1​Ã	+	)g(	2N	2​​â1​Ã	»ÂF«Â	)g(	ON
.)g(	OC	li	emirpse	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	inoizaer	eud	etseuq	id	ammos	aL	2»Â¢Ã01​Â​Ã5,9	=	2​​â1​Ã	)201​Â​Ã1.1(	/1	=	pK	​Ã	​Ã	​Ã	​Ã	​Ã	)g(	2O2	/	3	+	)g(	2H2C«Â	»ÂF«Â	)g(	O2H	+	)g(	OC	2	05¡Â¢Ã01​Â​Ã4,1	=	2	)52«Â	01​Â​Ã2,1(	=	pK	​Ã	​Ã	​Ã	)g(	2H	6	+	)g(	OC	2	)g(	O2H	2	+	)g(
4HC	2	.)B-i	ataiverbba(	onatubosi	id	oirbiliuqe​​âlla	enoizartnecnoc	al	erevlosir	rep	inoizartnecnoc	elled	allebat	anu	eratsopmi	idniuq	,	Ãtiralom	ni	)B	ataiverbba(	onatub	id	assam	al	eritrevnoC	=	pK	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	¢Ã01​Â​Ã3,1	=	)2«Â	​Ã	¢Ã01​Â​Ã5,9(	)05«Â	​Ã	¢Ã01​Â​Ã4,1(	=
pK	​Ã	​Ã	​Ã	​Ã	​Ã	)g(	2O2	/	3	+	)g(	2H	6	+	)g(	2H2C«Â	)g(	O2H	3	+	)g(	4HC	2	.31	lI	.2S	lom	502.0	e	2SC	lom	141.1	onavort	is	g	0,001	id	enoipmac	len	,oirbiliuqe​​âlla	,¬ÃsoC	.75.5	=	)502.0(	/	)141.1(	=	cK	:otavort	eresse	²Ãup	cK	arO	.11	6601​Â​Ã8,2	=	2	)892​Â​Ã1280,0(	/	)9601​Â​Ã7,1(	=	n​Ã	)TR(	/pK	=	cK	idniuq	2	=	]2[	»Â«Â	]3	+	1[	=	n¢Â​Ã	,elanif	enoizaer	al
rep	cK	eravort	rep	,enifnI	9601​Â​Ã7,1	=	)021	01​Â​Ã3.1(	)15«Â	​Ã	¢Ã01​Â​Ã3.1(	=	pK	​Ã	​Ã	​Ã	​Ã	)g(	2H	3	+	)g(	2H2C«Â	)g(	4HC	2	airtemoihcets	al	©ÃhcioP	:)orev	erpmes	¨Ã	non	²Ãic(	amelborp	otseuq	ni	etnatropmi	¨Ã	non	erotinetnoc	led	emulov	li	ehc	iton	iS	x	x	x	x	x	«Â	052.0	x	«Â	052.0oirbiliuqE	x+	x+	x	«Â	«Â	x	«Â	enoizairaV	0	0	052.0	052.0elaizinI	)g(
2H	+	)g(	2OC«Â	)g(	O2H	+	)g(	OC	.oirbiliuqe	id	amelborp	otilos	li	iaf	ioP	.ocirdiflos	odica	e	acainomma	ni	aicossid	is	elacainomma	ocirdiflos	odica​​âL	.icidniuQ	.atten	enoizaer	al	rep	oirbiliuqe	id	etnatsoc	al	erenetto	rep	etacilpitlom	onognev	inoizaer	elognis	elled	oirbiliuqe	id	itnatsoc	el	e	atten	enoizaer	al	erenetto	rep	etammos	onognev	inoizaer	elognis
el	,idniuQ	.mta	01	a	ittodorp	id	enoizamrof	eroiggam	anu		Ãras	ic	idniuq	,ittodorp	i	osrev	otnematsops	onu		Ãrehcovorp	enoisserp	alled	otnemua	nU	.41	48,1	=	are	0,562	g	PCl5,	1,950	g	PCl3	and	1,007	g	Cl2.	Write	an	equation	for	the	dissociation	reaction	and	determine	the	value	of	Kp	Set	an	ICE	table:	ICE:	4​Â	​Â¢Ã01​Â​Ã80.4	=	cK	,)g(ON	2	​Â​Â¢Ã	​Â​Â¢Ã
)g(2O	+	)g(2N	¨Ã	atad	enoizaer	aL	.ilpitluM	irbiliuqE	ilged	eggeL	al	odnazzilitu	oilgasreb	enoizaer	al	rep	pK	eravort	,ogoul	omirp	nI	)?enoizaer	al	rep	pK	e	cK	onos	emoC	:otnemiregguS(	0401​Â​Ã1.1	=	pK	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã)g(O2H	​Â​Â¢Ã	​Â​Â¢Ã	)g(2O	½Â​Ã	+	)g(2H	201​Â​Ã1,1	=	pK	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã)g(O2H	2	+	)g(OC	4	​Â​Â¢Ã	​Â¢Ã	)g(2O	3	+	)g(2H2C	2	52​Â	​Â
​Â¢Ã01​Â​Ã2,1	=	pK	​Ã	​Ã	​Ã	​Ã	​Ã)g(2H	3	+	)g(OC	​Â​Â¢Ã	​Â​Â¢Ã	)g(O2H	+	)g(4HC	.	¨Ã	enoizaer	al	rep	assam	id	enoiza	id	enoisserpse'L	.cK	id	erolav	li	eraloclac	,M	55,0	=	]C[	e	,M	51,0	=	]B[	,M	520,0	=	]A[	onos	)g(C	2	​Â​Â¢Ã	​Â​Â¢Ã	)g(B	2	+	)g(A	enoizaer	allen	etavort	oirbiliuqe'lla	inoizartnecnoc	el	eS	.eiceps	ingo	id	eralom	assam	al	e	erotinetnoc	led	emulov	li
,etad	essam	ellad	enoizaer	allen	etnenopmoc	ingo	id	oirbiliuqe	id	enoizartnecnoc	al	eravort	omaibbod	,arolla	,cK	eravort	reP	)g(2lC	+	)g(3lCP	​Â​Â¢Ã	​Â​Â¢Ã	)g(5lCP	:erevircs	omaissop	cK	id	enoizinifed	allad	e	atarbiliuqe	enoizaer	allaD	.L	00.1	id	etneipicer	nu	ni	lom	6340.0	=	M	6340.0	=	]OC[	=	x	ovitisop	oremun	nu	eresse	eved	x	©ÃhcioP	552.0​Â​Â¢Ã	=
x	o	6340.0	=	x	erad	rep	acitardauq	enoizauqe'l	odnasu	otlosir	¨Ã	otseuQ	x	+	001.0	x	x	​Â​Â¢Ã	001.0	oirbiliuqE	x+	x+	x	​Â​Â¢Ã	enoizairaV	001,0	001,0	xlaizinI	)g(2H	+	)g(OC	​Â​Â¢Ã	​Â​Â¢Ã	)g(O2H	+	)s(C	.	erad	rep	assam	id	enoiza	id	enoisserpse'llen	etiresni	etnematterid	eresse	onassop	ehc	odom	ni	,etad	onos	etnenopmoc	nucsaic	id	oirbiliuqe	id
inoizartnecnoc	eL	?pK	id	erolav	li	¨Ã	lauQ	.49,7	=	cK	¨Ã	C°Â​Ã	52	a	onatub	led	enoizazziremosi'l	rep	oirbiliuqe	id	etnatsoc	aL	.acinobrac	edirdina	id	sag	e	oeuqca	eropav	,oidos	id	odilos	otanobrac	odnamrof	enopmoced	is	oidos	id	odilos	otanobrac	lI	)c(	.91	lom	820,0	=	04.6​Â​Ã3400,0	:5lCP	lom	6280,0	=	04,6​Â​Ã9210,0	:2lC	lom	6280,0	=	04,6​Â​Ã9210,0
3lCP	:enoizaer	id	enollap	led	emulov	li	rep		Ãtiralom	anucsaic	odnacilpitlom	eneitto	is	etnenopmoc	nucsaic	id	ilom	id	oremun	lI	.mta	923,0	=	x	o	,x2	=	x	+	x	=	mta	856,0	,idniuQ	?elaizinI	)e(S2HP)e(3HNP	=	pK	)g(S2H	+	)g(3HN	​Â​Â¢Ã	​Â​Â¢Ã	the	reaction	produces	the	appropriate	reagents	and	products	for	the	target	reaction,	but	with	the	wrong
stoichiometry.	TO	In	a	6,40	L	flask	the	equilibrium	is	introduced	in	the	following	reaction	at	250	Ã​Â°C	PCl3	(g)	+	Cl2	(g)	Ã​	Ã​	Ã​	Kc	=	26	to	250	Ã​Â°C	0,100	mol	each	of	PCl3	and	Cl2	and	0,0100	mol	PCl5.	The	total	number	of	moles	of	sulphur	in	the	sample	of	100,0	g	=	86,29	g	/	32,066	g/mol	=	2,691	mol.	For	the	water-gas	reaction	{C	(s	+	H2O	(g)	CO
(g)	+	H2	(g)	],	Kc	=	0,111	at	approximately	1100	K.	(a)	NO	(g)	(b)	NH3	(g)	(c)	NOCl	(g)	expression	to	give	the	balance	a	constant	expression.	Kp	for	the	target	reaction	is	obtained	by	multiplying	the	equilibrium	constants.	An	analysis	of	the	gaseous	phase	[S2	(g)	and	CS2	(g)	]	present	at	the	equilibrium	at	1009	Ã​Â°C	in	the	reaction	C	(s)	+	S2	(g)	shows
that	it	is	13.71%	C	and	86.29%	S,	by	mass.	Now,	Kp	=	(x)	(x)	=	x2	=	(0.329)	2	=	0.108.	(c)	Reactors:	1	mole	of	gas.	First,	it	converts	the	initial	amounts	of	species	from	moles	to	molarity.	To	achieve	the	objective,	the	third	reaction	above	must	be	used	with	all	its	stoichiometric	coefficients	multiplied	by	three.	The	law	of	multiple	equilibria	states	that
when	you	add	up	reactions,	you	multiply	the	corresponding	equilibrium	constants,	that	is,	the	volumes	cancel	out	by	this	reaction.	A	typical	balancing	problem:	write	the	reaction,	write	the	expression	of	mass	action,	set	a	concentration	table,	then	enter	the	expression	of	mass	action	and	solve.	In	a	sealed	container	from	1.75	litres	to	250°C,	the
balance	between	PCl5	(g)	and	its	dissociation	products,	PCl3	(g)	and	Cl2	(g)	is	established.	Therefore,	[PCl3]e	=	0.0156	Â"â`²â`²	0.0027	=	0.0129	M,	[Cl2]e	=	0.0156	Â"â`².0027	=	0.0129	M,	and	[PCl5]e	=	0.00Â	156	+	0.0027	=	0.0043	M.	How	does	a	catalyst	affect	the	value	of	the	equilibrium	constant	for	a	reaction?	Products:	2	moles	of	gas.	Write	a
constant	expression	of	equilibrium,	Kp,	based	on	the	formation	of	a	mole	of	each	of	the	following	elements:	Reversing	the	reaction	also	means	that	the	new	balance	constant	Ã¨	the	inverse	of	the	original	balance	constant.	Determine	Kc	at	298	K	for	the	reaction	2	CH4(g)	Ã	¯	Â​'	Ã	④	Â​?	C2H2(g)	+	3	H2(g),	given	the	following	data	at	298	K.	In	this	case,
the	pressure¨	increased	from	1	atm	to	10	atm,	then	each	reaction	will	move		to	relieve	that	pressure,	iÃ¨	towards	the	side	with	less	gas	piers.	Explain	to	me.	What	is	the	value	of	Kc	at	2000	K	for	the	NO(g)	Ã	④	Â​'¢	Â​	reaction?	Ã​Â½	N2(g)	+	Ã​Â½	O2(g)?	17.	Cl2:	[2(35.45)]	=	70.90	g/mol.	Write	a	constant	equilibrium	expression,	Kc,	for	each	of	the
following	reversible	reactions.	What	is¨	Kc	for	this	reaction?	Initially	there	is	no	CO(g).	2.	Ã​Â½	N2(g)	+	O2(g)	Ã	④	Â​'	Ã	④	Â​?	NO2(g)	Kp	=	1.0Ã​Â​10Ã	④	Â​Â​9	(1)	NOCl(g)	+	Ã​Â½	O2(g)	Ã​'Ã	④	④	Â​	NO2Cl(g)	Kp	=	1.1Ã​Â​102	(2)	NO2(g)	+	Ã​Â½	Cl2(g)	Ã	④	Â​'	Ã​'Â'	NO2Cl(g)	Kp	=	0.3	(3)	(Tip:	How	are	KC	and	Kp	for	the	related	reaction?)	Because	the	data	of
the	equilibrium	constant	are	given	in	terms	of	Kp	for	the	known	reactions,	first	find	Kp	for	the	unknown	reaction	and	then,	finally,	convert	it	to	Kc.	The	target	reaction¨:	Ã​Â½	N2(g)	+	Ã​Â½	O2(g)	+	Ã​Â½	Cl2(g)	Ã	④	Â​	Ã	④	Â​	NOCl(g)	Reaction	(1)	has	nitrogen	and	oxygen	as	reagents	but	a	wrong	product.	(a)	Reagents:	2	moles	of	gas.	In	which	of	the
following	reactions	you	will	increase		the	quantity		of	product	in	equilibrium	if	total	gas	pressure	is	increased	from	1	atm	to	10	atm?	Write	the	balanced	chemical	reaction	and	then	use	the	definition	of	mass	action	to	find	the	constant	expression	of	balance.	Products:	1,5	moles	of	gas.	(Tip:	Does	the	volume	of	the	reaction	mixture	count?)	Prepare	a
table	of	concentrations	and	resolve	from	lÃ	¬.	Since	the	volume	is	not	important	to	find	the	equilibrium	constant,	suppose	the	gas	volume	chosen	for	analysis	contained	100.0	g	of	sample.	CiÃ²	means	that	the	new	balance	constant	Ã¨	the	square	root	of	the	old	constant	of	7.	Reaction	(3)	can	be	used	for	Ã,	"2	n2	(g)	+	O2	(g)	no2	(g)	kp	=	1.0ÃƒÂ-10Ã	¢
Â|9	(1)	no2	(g)	+	ãly"	2	cl2	(g)	NO2	(G)	NO2CL	(G)	KP	=	0.3	(3)	Adding	the	two	combined	reactions	means	that	we	multiply	the	balance	constants:	Ã,	"2N2	(G)	+	O2	(g)	Â«	Fâ	»NO2CL	(G	)	KP	=	(1.0ÃƒÂ-10Ã	¢	â	¢	9)	(0.3)	=	3ÃƒÂ-10Ã	¢	â	¢	10	(4)	(the	no2	(g)	found	both	on	reagents	and	products	has	been	deleted	.)	This	has	all	the	right	reagents,	but	the
product	is	wrong	and	stochiometry	is	not	entirely	correct.	Determine	KC	at	298	K	for	the	reaction	Ã	Ã	Ã	â	"2	n2	(g)	+	Ã	Ã	Ã	Ã	â"	2	o2	(g)	+	Ã	ãlyâ	"2	cl2	(g)	nocl	(g),	given	the	following	set	of	Data	at	298	K.	1.	What	is	the	value	of	KC	for	the	PCL5	reaction	(G)	Â	«Fâ»	PCL3	(G)	+	CL2	(G)?	2	No	(g)	Â	«Fâ»	N2	(G)	+	O2	(G)	KC	=	1	/	4.08ÃƒÂ-10Â	»4	=
2.45ÃƒÂ-103	To	obtain	the	correct	stoichiometry	for	the	target	reaction,	all	Stochiometrici	Metric	coefficients	are	multiplied	by	Ã,	"2.	If	we	start	with	a	pure	NH4HS	sample	(s)	at	25	Ã,Â	°	C,	the	total	gas	pressure	is	0.658	ATM	when	the	balance	is	established.	Then	use	the	report	KP	=	KC	(RT)	Ãžâ	¢	N	to	find	the	value	of	KC.	The	target	reaction	has	2
CH4	(G)	as	one	of	the	reagents	and	1	C2H2	(G)	as	a	product.	PCL5:	[30.97	+	5	(35.45)]	=	208.22	g	/	mol.	(a)	carbon	monoxide	gas	reduces	nitrogen	monoxide	gas	in	gaseous	nitrogen;	Other	product	is	carbon	dioxide.	All	the	carbon	in	the	gaseous	phase	is	in	the	carbon	sulfide,	then	the	sample	of	100.0	g	must	contain	1,141	mol	CS2.	This	tells	us	that
the	first	reaction	must	have	all	the	stenchiometric	coefficients	doubled	and	that	the	KP	for	the	date	reaction	must	be	square.	PCL3	(G)	+	CL2	(g)	Â	«Fâ»	PCL5	(G)	Initial0.100	/	6.40	=	0.0156	0.100	/	6.40	=	0.0156	0.0100	/	6.40	=	0.00Â	156	Variation	Â	«X	Â	Â	Â»	X	+	X	balance	0,	0156	Â	«x	0,0156	Â«	x	0,00Â	156	+	x	sol	with	the	quadratic	equation	dÃ
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